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BEWKEE 7570kg
#z2 & A K I7LRA
EH A m E nimn| 50 m/min
EHAHE A kef/fem 7.0kgf/cm
[ & % rp.m 1500rp.m
1RBIRTEAL 5: 1
ReatHE 2/ min 57 2 /min
EXE SN Mpa 0.76 Mpa
2RBIRTEAL 20 : 1
EaittHE 2 /min 27 2 /min
EXE SN Mpa 0.76 Mpa
RAVPE—E— C 100°C
RAVINRKRBE 9 960 ¢
E—XRxRKE=E kg 400kg x 2
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B g
= A #H > s - km / h
~ ] g
1 X2 k 6.0 6.5 7.0 75
v 2 - X - AR - FSX - X - X
k 8 A+ E—X Rk E—X RAb [e—=x RAb E—X RAb E—X
2/km \ke/km| 4 4,690 5,080 5,471 5,863
15 5.025| , g 5.443| 4 a3 5.863| 5567 6.281] 4500
67 6 | 16 5,360 5,806 6,253 6,700
1.7 5,695 6,170 6,644 7,119
/km (ke/km| 4 4 3,360 3,640 3.920 4,200
15 3.600| ; g5 3.900] , 504 4200] 5 45g 4500| , 413
48 37 1.6 3,840 4,160 4,480 4,800
1.7 4,080 4,420 4,760 5,100
2/km [kg/km
14
15
1.6
1.7
g NAb IMEHEE=ITXRE X FH=E X EE x1.000+-60)+2
‘ (ke/30%)  (km/h)  (/km) )
A5
E—X 30 EIMt 2 =i T3RE x EfH= % 1.000+-60)=2

(kg/30F)) (km/h) (kg/km) (4)
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FIXKRTES 0.3Mpa TERE 1.8kgf/cm
E2RRUTES 3.0kgf/cm Fo T % 6m/m
F2HRTHHEEAN|  70kgf/cm
FyTZE GPN-643m/m
RAk Hfi:g
MM HBYMLEEHE AT 149R8 24 Ut i 5 HtHEFEHIE
B FRFRACF BROEE [AUMEHE 91260
¥ l=g G1 G2 G1—G2 120.
1 5,668.0 1,143.0 4,525.0 9,050.0 |EENEFH 2%
2 5,759.0 1,144.0 4,615.0 9,230.0 | LFR 9,308.6
3 5,693.0 1,144.0 4,549.0 9,098.0 | FRE 8,943.5
E—X $1ﬁ:g_
a MM BYMLEHE AT 143 & Yt 5 HHEFHiE
"RTE—X [BR0EE E—XHEE
Hsg Gl G2 G1—G2 14203
1 3,325.0 1,141.0 2,184.0 4,368.0 |EEIEFH 5%
2 3,395.0 1,143.0 2,252.0 45040 | EFR 4,646.6
3 3,347.0 1,145.0 2,202.0 4,404.0 | TR 4,204.1
EITERERTE GEBRETEEDTEH)
194 YHHE TkmYYEEtE
1RSI &Yt H 2(g/min X 60min) g/h — (1TkmHYERETE0 X RA R X 1000) g/km
={RERE
RAk 91260 X607+ (482X 1.6 x1000)= 7.12 km/h
E—=xX 44253 x60% = (37kg X 1000)= 717 km/h

AEREITRE 7.0km/h
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n |0FES RAD a2 = = G2—G3
g8 Gl
el 465.6 426.4 392 | 39.3
22 465.3 426.0 39.3
S
L1 3 464.2 4249 39.3 |(B) P’
el 4816 4235 581 | 58.1 18.9
f 2 4812 4231 58.1 (A) —(B)
Y1 3 4806 422.4 582 [(A) © B’
SERATEE  70k/h  (BIERETRELETEE)
REATEEENEE (MHER)
TFTARE—R1HY (1F15cm X KEI50em)DIGE
RAVb EEt=( 48/km) x ZE(1.6) 38.4 P
1.000m = 0.5m X 1,000 :
E—X =%t = (37kg/km) B
1.000=0.5m x1000 185 g
RAVRHE—X P+B 569 g c
EFITH B & B
Al F B x OE B = i 53 TE]|
P =< P = 384 < P= 393
B =< B = 185 < B= 189
cC =< C = 56.9 < C= _ 581
BIEE = 7.0km/h
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1. TAME—X1$HY (1E15cm X £&50cm) DIHFE
Rk
ERETE( 480/km) X ZFEE1.6 X 1,000 X NERTE 5> 79% X 0.5m
1,000

E—X
EtE ( 37kg/km) X 0.5m =

RAVRHE—ZP)+(B)

2. TAE—R1HYY lF15cm x KE20cm)DIHGE
RAVb

EREtE ( 480/km) X EFEE1.6% 1,000 X MNEATEST9% X 02m =

1,000

E—X
EETE( 37kg/km)X02m =

R4V +E—X (P)+(B) =

30.336 g
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